e —————————
|
| | e e GG | =] b —-c = V2web + Visin.
F o ¥ i t !
. AMERICAN S A ANMERICAN S L T i
| I i | q-- U
. STANDARD 3 S STANDARD s 1 I
| d o i '
SHAPES ! SHAPES 2 | B
Rawlx A
I — I
Ak R
k o grip vk S—t--gi
-t-p-AI0-— _a kil WSTTT g
v Pooregs
. . : - ~=bi=> . . : - ~—hg— >
Approximate Dimensions for Detailing Approximate Dimensions for Detailing
Section Flange Section Flange
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S24 x 120 24 8 1% e 3% 20 2 3% e 1% 1 4
124A 105.9 | 24 % 1% % 3% 20 2 Ky 1% 1 4
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*R=.60

35 0 5 % % 2%  Th % % % % % 2%
25.4 10 4% % e 2% Th 1% 2% Yhe % %n 2%

$24 x 100 24 % % % 3% 20% 1% 3 % % 1 4
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$20 x 95 20 7% %he '%he 3% 16% 1% 3 % %e 1 4 15.3 7 3% % % 1% 5% % W e % %

*R = radius of fillet.

*R = radius of fillet.
All shapes on this page have a flange slope of 16% pct.

All shapes on this page have a flange slope of 16% pct.
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